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Instructions for candidates:-

1.
2.
3.

This exam is in two parts.
Part- is related to Mental Ability Test.

Part-11 relates to Scholastic Aptitude Test. It consists
of nine subjects, details of which are given below:-

i) Physics ii)  Chemistry
iif) Biology iv) Mathematics
v) History vi) Geography
vii) Civics viii) Economics

ix) English
Each question carries one mark. All questions are

compulsory.

You have been provided with a answer sheet (OMR)
for this question paper. Darken the correct option of
each question in the answer sheet (OMR) with
black/blueink.

Rough work may be donc on the blank space
provided. '

There is no negative marking in this question paper.

Do not use white fluid on OMR Answer Sheet.
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Mental Ability

Directions (Q. 1-2) There is a number series following a
Pattern. One place is left blank, Find the correct answer
from the options.

1. 1,2,4,8,..2..,32
1) 10 ) 12
3) 14 4 16
2. 16,33,65,131,(2)523
1) 261 2} 521
3) 613 4 721

3. Find the odd number
3,7,9,28,27,84, 81,448,243
1) 84 7) 8l
3) 28 4 7

Directions (Q. 4-5) The letters given below follow a
definite pattern. Find out the missing Letters to
complete the pattern.

4, -XYX-XXy-XXX-XX

1)  yxyx 2) XXXy

3} yyyy 4)  xyxy
5. gfe-2g-e22-fe2-gf-22

1) 2f2ge 2)  e2fg2

3y f2gle 4)  2fge

6. In a certain code language INVITED' is written as
"LPWISCA'. How will 'LETTERS' be written in that
code language?

1) OUGTDPQ 2) OUGTPQ
3) OQUGTPDQ 4)  OGUTDPP

7. In a certain code language "GREAT" is written as
n79512". How will "DOWRY" be written in that code

language?
1) 41523 2) 46897
3) 46597 4) 42315

Directions (Q. 8-9) What will come in i)lace of question
mark(?)

8. 3 7 9
3(3) 2 5 (5) 7 8 (1) 9
i 6 10
n 3 ) 4

3) 5 4 6

WTSTRT FaraT
fxaew (yEs 1-2) 35 foit yust feo wat @t st et o
3, faw feg wat v oprurt T 3 1 wEt ot 9 Bt e a2

g9 feasut fed ndt @ aa g
1. 1,2,4,8....0...,32
10 2) 12
3) 14 4 16
2. 16,33,65,131,(?)523
1) 261 2) 521
3) 613 4 721

3. wiggernE/Afenr g3
3,7,9,28,27,84,81,448,243
1) 84 2) 81
3) 28 4 7

fage (yEw 04-05) ¥t &3 wivg e faufes gu awr

| EATE I5 | feR gU 3y & Yo 995 BE gUF g UIT A |

4, -XyX-XXy-XXX-XX

1} yxyx 2)  xxxy

3) yyyy 4 xyxy
5. gfe-2g-e22-fe2-gf-22

1) 2f2ge 2y exfg2

3) figle 4) 2fgle

6. fam % gwr f&g 'INVITED' & 'LPWISCA' fafumr
srer, 31 @ &% g =9 'LETTERS' § fa@ fafir
Ar=ar?

1) OUGTDPQ 2) OUGTPQ
3) OUGTPDQ 4y  OGUTDPP

7. farit 5 IAT 2T 'GREAT' & 179512 fafimr wrer §167
&z g =g 'DOWRY' & fa@ fasfepsr Araar?

1) 41523 2) 46897
3) 46597 4y 42315

fm@s(ma-mfe%arét{ﬂ#fe%mféﬁamra%l

g. 7 9
s (5) 7 8 (1) 9
6 10

3
1(3) 2
I

1y 3 7y 4
4 6



9. 56 27 .27
9 (1) 81 3 (2)36 9 (1) 36
17 9 9
1y 9 2) 10
3 1l 4 12
] 0.' Abhijot walks 6km to the west then he turns to his right
and moves 8km then he turns to his left and moves 9km

then turns to right and moves 12km. Now in which
direction is he from his starting point and how far?

1) 15NE 2) 35NE
3) 25NW 4) 45SE

Directions (Q. 11-12) Read the following information
carefully and answer the question given below. In a
certain code"her idea has merit" is written as "fa lu boo
ma", "merit list has been displayed" is written as "o
he lu si ma", " her name displayed there" is written as
"ya si boo zo", and "name in merit list" is written as
"mayajho he"

11. Whatis the code for 'been'?

1) he 2y lu

3) go 4) s
12. What is the code for 'in"?

1} jho 2) ma

3) zo 4)  boo

13. Ifblue is called red, red is called green, green is called
black, and black is called white, What is the colour of

grass?
1) Red 2)  Black
3} White 4) - Green

14. Which of the following operations will result in 227
1) 16+12-8x13+15
2)  16-12x8+13+15
3)  16+12+8-13x15
4)  16x12+8+13-15

15. If, + means —, —, means +, +' means 'x' and x means +,
what is the value of 125-5x10+13+28=?
1}y 129 2y 127
3) 149 4) 150

16. Which figure represents Rhombus, quadrilaterals,
Polygons?
1)

2) @O
4) @

L))

ale

9. 56 . .27
9 (1)si 3 (2) 36 9 (1) 36

17 9 9
) o 2y 10
3) 11 4 12

wiawg 6 fa . en 8 v 98w § feg Qo nru@ AT U
WF AT I 8 fa it IBer Il Qo MR vy T
AT YT 9 fa Mt s T I S AR Sy AreT I 12
fa M. ¥5erdi1gE Qo I o8 g Ffan femrr feg d
w3 st get ‘I a7

1) 158y 2) 35€@-y

3) 25€-y 4) ase-y

faeem (yus 11-12) fE'St o et § fows s ug
w3 It fa'd o yaat @ @ g9 fog 1 fait §o avar fo'T "her
idea has merit" § "fo he lu boo ma", fafymr wter 3,
"merit list has been displayed' § "go he Iu si ma",
fafipsr siter 3, “her name displayed there” § "ya si boo
zo" fafimir 7Y™ @ 3 "name in merit list" § "ma ya jho
he" fafimraterd '

Il. 'been' Tr&FT & T

1) he 2y Iu

3) go 4)  si
12, 'In'Srazatd)

1) jho 2y ma

3} =zo 4} boo

13. ﬁaaaﬂwémhww%,wﬁwfaww%,wﬁ
TS faar @ wiF et § fder faor w2 arwrger Sarant
Jeari

1) =55 2) g
3)) e . 4) g
14. 35 {adr Wifafanr=t fed fameraadtwr 22 37

1) 16+12-8x13+15

2) 16-12x8+13+15

3)  16+12+8-13x15

4) . 16x12+8+13-15
15, AEE '+ T HIBE -,V ST HIEE < w3 ' e HgEE ' TR

It Is feg aratie T2ar? 125-5x10+13428=7

n 129 - 2) 127

3) 149 4) 150
16.&3%&»#&?&35*&%3%@3@#,93@



i7.

18.

19

20.

21.

22,

Select the combination of numbers so that the letters
arranged accordingly wiil form a meaningful word
RTANUE

1 2234 5 6
1) 1,3,2,6,4,5
2) 4,6,5,2,3,1
3 4,3,2,5,1,6
4) 4,3,2,5,6,1

Which of the following words cannot be made from the
Letters given in question.

TRANSFORM

1) FORT 2) ROAM

3) TRAIN 4) RANSOM

Arrange the given words in the alphabetical order and
choose the word that comes in the second place.

1) - Reserve 2}  Real

3) Rest 4)  Repeat

Which will be that next leap year after 2020?

1)y 2026 2) 2029

3) 2103 4) 2024

PQ,R,S,T,U, VW are sitting around table in same
order, for group discussion at equal distances. Their
positions are clockwise. If V sits in the North, then
What will be the position of §7

1) East 2) South-East
3) South 4)  South-West

Yuvraj said,"My mother is sister of Vinod's brother."
How is Vinod related to Yuvraj?

1) Brother-in-Law 2)  Uncle
3) MaternalUncle 4)  Cousin

Direction (Q. 23&24) Read the following information
and answer the questions given below it.

Anju is older than Manju. Gopal is older than Manju but
younger than Anju. Kapil is younger than Ramesh and
Manju. Manju is older than Ramesh.

23. Whois the oldest?

1) Anju 2}  Manju
3) Kapil 4) - Gopal
24. Whose age is between Gopal and Ramesh?
1) Manju 2y  Kapil
3) Alka 4)  Noneofthese

17.

18.

19.

20.

21.

22,

it g MiAIT RHT 9 FAA e & »ivat § gadia fest
"< 3 It Aeea pAE Ee |

RTANUE

1 23456

1) 1,3,2,6,4,5

2y 4,6,5,2,3,1

3 4,3,2,5,1,6

4) 4,3,2,5,6,1

gETfemT AT RIeT? TRANSFORM
1) FORT 2)  ROAM
3) TRAIN 4) RANSOM

o3 maet § TTSET T O nEH'S J9 M3 @ REE ©R
fros g RS 'S e J|

1} Reserve 2)  Real

3) Rest 4}  Repeat

2020 F FT wasT BT AT fao J=ar?

1) 2026 2y 2029

3) 2103 4 2024

PQ,R,S,T,U,V,W f&'q fana i € oS 9aad g1 3

T fe'T 99w a5 SE 8% 051 §aat & A wE dnft
At & ferr nigAg T I RaT V @ ffadsrasiSer
HeTS ot J=ar?

2) TuT-y9y

1) um
}) wuT 4)
weew o, ‘Nt w fedm e gor et 3o d, fede geaw
#75 fa frug 37

) o= 2)
3) W 4)

vHE-UsH

grar
g9 Far

faaew (yaw 23-24) fe'at ot wreardt § uF w3 Jst e
ae yEst e @aefed|

g, g F €81 3, dwE g FETTI Qg 3wl
FfuB INETHI Wy F &7 I A, A I FTI

23, fagrAg FEavd?

1) g 2) W

3) afum 4) Fus
24, eI anE e gefiers faRet §a 0|

) 2)  afus

3) wsaT 4) F@ER



25. Find out the connection/relation of the given
rows/columns with each other in some way.

Rows Columns

| 73 12 21 48
2 121 13 22 136
3 84 28 46 517
4 512 87 141 224

1}  Columns T&II
2) Columns _ Mm&1v
3  Columns H& 1V
4} Columns &I
26. Atreealways has
1} Branches 2)  Leaves
3) Fruits 4y  Roots

27. How many 5's are there in the following number
sequence which are immediately preceded by 7 and
immediately followed by 6?

755945764598756764325678
1} One 2y Two
3) Three 4)  Four

Directions : In questions (28&29) one of the rules is
applicable, Find out the rule and correct alternative

)  Multiply the number by 3 and add 3 to the result
2)  Subtract twice the number from the square
3)  Multiply the number by 5 and subtract 3
4)  Addthe number to its square
28. 12,20,30,42
29. 47,52,57,62

30. In the given question symbols do not stand for their
actual meaning but indicate some relationship. Under
stand the relationship and find correct alternative

24+33=99

40+23=115
16+25=50

64+13=7

) 74 2) 28
3) 58 4 104

31, Visiting the historical monument, a tourist asked "How
old is this monument?" The guide replied "The age of
monurment was square number two years ago and will

be cube number after two years. What is the age of
historical monument?

1) 343 2) 216
3) 123 4) 66

25.

26.

27.

TIRET et a3rgi/arent i[9 gaer »urt fag
TN
Rows Columns

i 73 12 21 48
2 121 13 22 136
3 84 28 46 517
4 512 ]7 141 224

1) asHinawmIll
2) BRIV
3) aEHIm3Iv
4  FEHIImIIN

T T IHRT Al o T

1) efaehut 2) U

3) =& 4) =g

ave st feg i 5 fad vret 3 afag & fan fee g 5 5

ufost W 7 wr@eT 3% W gove 99 g 6 e 39
755945764598756764325678
1 fex ) @°

3) fas 4 T9

f539% : yEa® (28 w3 29) fo's fo'3 1@ famrt fad fe'yr

28.
25,

30.

31

femrag 3 raer 3 Ifswreg a nft feasydt S= a3
1) @ 3swaerasnd fenfdasng

2) WY TR dMa T T e weg

3) "REFsaEgeradd, 9 3ued

4) WIS HA ST FT

12,20,30,42
47,52,57,62
yns &9 fe'3 e fds wnu@ wing wase wiawe o9t I3

reofa fe'g fug rarfuz S9@ o, Adt A9T 3 wofag met
feasudta=ag

24+33=99

40+23=115

16+25=50

64+13=2

) 74 2) 28

3) 58 4) 104

fexr fegoima weare fe9 oug 39 §F ffg w3t &
Ufenm fg @wears &8 ms yaet 37 €8 9 ardiw
(fagsnar) & fagr few &t Qua & o ufgst feg =gar g /Y
w3 & A8 ame fo'q we v J2qit| € srearg ot @va
faat aait?

1) 343 2) 216

3) 123 4) 66



Directions (Q. 32-34) Some bricks of the same size have
been arranged in a block in figure kept on table. All the
exposed faces have been painted with colour Answer
the question given below.

\\\3

32. How many bricks are there in the figure?

1) 40 2) 38
3) 46 4) 52
33. How many faces of these bricks kept on the table, have
been painted?
1) 40 2) 84
3) 80 4 718
34. How many bricks are there whose only one face is
painted?
1 16 2) 28
3y 24 4 20

35. It was 9:35 am by Sachin's watch, which kept correct
time, when Abhinoor informed him that the last bus
left the bus stop at 9:25 am Abhinoor's watch is
5 minute fast. The frequency of the bus is every 20
minutes. For how long must Sachin wait to catch the

next bus?
1) 15 minutes 2)  l0minutes
3} 25 minutes 4)  5minutes

Directions (Q. 36-37) Find the odd alternative

36. 1) 25 %) 36
3) 49 4) 64
37.1) CEFH 2)  MOQS
3) ACEG 4) ZBDF

Directions (Q. 38-39) In each of the following questions,
there is a relationship between two Letters/Word/
Number on the left of the sign (::) The same relationship
exists between the two to right of the sign (::) of which
one is missing. Find out the missing from the
alternative.

fxaem:- yEs (32 3 34) feF o fe'se feoge feet §iw
€ ua afur fapr 3 fegt @ yeatas 9 3 dar dat faprr
3135 fe et @ e fel

d
a8

32. fegafea faamn et aa?
1) 40 ) 38
3) 46 4 52

33, {3 o fi'g9 mgwre feet ¥ 43 yeafes fofmr (fouret
= TR I gar I fammr 37

1) 40 2) 84
3) 80 4 78
34, wifAdbat fdatt fiet I fagt @ free fo'a yeewa fafr
(fouret = Ta) JarataT famr 31
1) 16 2) 28
3) 24 4 20

35. Afes A wA I AT e 9:35 e AW AL, A fa sta M wmifgga s
gwg pfgg atar fa nritast oW, S8 3 925 I gdl
At | mifgga &F wt 5 e »idr /1 97 99 20 fire e ATt
31 A & wioet 97 wa=s B fdaT fegnrd gaaT u=ar?

1) 15fie 2)  tofwe
3y 25fe 4) Sfr
faeom (UHE 36-37) f§a feasu et I=aqdi

36. 1) 25 2) 36
3 49 4 64

37. 1) CEFH 2) MOQS
3) ACEG 4) ZBDF

fxae) (YFE 38-39) 35 fed yEat fRo = S WA YR @
T/ fES A9T 3 /S wit @ Afgwr fee 21 e
fug 3 1fe°3 a2 faasut § nat feasusd |
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38. PI:

4

A .9

13 DY

3 4
ny 3 4
) 5 2) 5

6 2
M3 49 3

39. CIRCLE : RICELC: : SQUARE:?
1) QSUERA 2}  QUSERA
3) UQSAER 4) UQSERA

40. Gourav is fourteenth from the right end in a row of 40
boys. What is his position from the left end?

1) 27th 2)  26th
3) 25th 4) 24t

Direction : In questions (41&42) problem figure is
incomplete. Find correct alternative to complete
problem figure,

41.

42.

1 2 3 4
43. Find the mirror image of figure A

Mz ziiZlZ,

——— A——— —— *

A 1 2 3 4

44. Find the water Image of figurc A

XXX

A 1 2 3 4

38. PI -

)
>
-

1) 2)

3) 4)

wiN s

39. CIRCLE :RICELC: : SQUARE:?
1) QSUERA 2) QUSERA
3) UQSAER 4) UQSERA

40. 40 safaut S F379 € AR fiug 3 dige 142 Rers 3 6T

firye 3' Qv faal mavs 3 F@qr7?
1) 27®F 2) 26%t
3) 25% 4) 24t

fawem yms (4193 42) oo mifr fe'ga wgar 3 ) mifiorr
fe'g9 § yoravs =9t §'gv fo'set fad* mat fagsu 9= a3

41.

42.

RE

1 2 3 4

43. fg'sT A vreaus eryFifie 59|

NIV

——— P o | 8 —

A 1 2 3 4

4. fesTATruR fesEifiasd
* HX
.
3

LV

—

XIXIXT

A ! 2




Direction - In questions (45&46) Question figure is
embedded in one of the answer figure. Find the correct
one in which it is embedded.

45. Question figure

Answer Figure
L 4| a8
1 2 3 4

46. Question Figure

Answer Figure

B> 3| 8|

1 2 3 4

Directions - (47-48) In each of the following questions
there is a relationship between two figures on the left
side of the sign : :, The same relationship exists between
the two, to the right side of sign : :, Find the correct
alternative. '

- 48.

47.
: ?
1 2 3 4
Q/\A . X
1 =5l * ?
x A/NO a (|
* [ * |
(=] b3 >
1 2 3 4

Directions (49-50) The figures in each of the questions
follow a series Select the figure from the given
alternatives which would continue the series.

&ﬁém—m(45»|é46)i‘a‘amfé‘aa,e‘aafa‘aa+h€‘
fad fe'a fe'e g 3o & | fam fa'e fea ghewr 3, @vet
g :

45, ywafaae
|
CECIEES]
] N
L 41 LAA
1 2 3 4
46. yas faze
CECACELS

&3

1 2 3 4
fagem- yEa (47 73 48) is foi yast feofoma - 2 ¥R
yR @ fa'get feo ar rerfuz 3, AR wi @ Rifgwt o
ot fraw refyz aee 39, fe'd o feasy fe adt faasy
GiEca o

47,
N ?
I 2 3 4
48.
o/ \a x o
[ - *
x |1 (a/\O o [u
* 1 * - cd -
1 2 3 4

fagam (g 49-50) faD a2 ygs fa'ger St st § @ woré=
s Iat fe'd v feaaut o' fe'a g &



49.

50.

51

52.

53.

54.

55.

O
O

1 2 3 4

S 1HAY

aY\wii hEe]/all
+ 3

1 2

K

Physics .
Tail of a comet points away from the sun due to
I}  Gravitational force

2) Electrical force
3)  Attraction of comet due to other planet
4) Radiation Pressure

Find the effective resistance between points
AandB

1y 7.50 2) 1050
3) 1250 4) 14,50
In the given equation identify the particle X

Be+;He—>"C+X

1)  Proton 2)
3) 4)

What should be the new radius of edrth in order to
reduce escape velocity to half of the present value
without changing the mass of the earth.

1) R2 2) 2R
3) 3R 4) 4R

The nature of image formed when an object is placed
between Principal focus and optical centre of convex
lens

1) Virtual, diminished

Neutron

Electron Positron

2) Real, Magnified
3) Virtual, Magnified
4) Real, Diminished

49.

50.

51.

52.

53.

54.

55.

&
&

S
&

15 S1A00AI_D?
aY \wil MY} /all

1 2 4
#fga fefamns
feagnﬁge?yasgaw?u?ax&ﬁﬁ%ﬁw?mfn

1) g ES

2) faawuw

3) OHAZ T PRT AT I BEMHINE
4) portygEETeEe

An3 B firgnt fegarayfgsa st §7
1) 750 2) 1050
3y 1250 4) 14.50)
fest o8t mitaes feg x a1 37
Be+He—C+X

H s 2) f=@%
3) fed=s 4) s

uadt @ »iau formr &t Jer adter § Aae @wer Un fagt
qe8 GRE MAany 21 (Escape Vel.) Wger Wrgar F »itt
Fefedtai

1) R2 2) 2R

3) 3R 4) 4R

A< far eng § OB Bam o v TN Bsm @t aeg
fegara gl mer & 3t Grer yfefiw faer wdar

1) wEwiiosT

2) wEE, wraafETIEr

3) wE, aragfEgTIT

4) »ms, fusr



56. A person is running along a circular track of area

57.

58.

59.

60.

61.

62.

63.

625wm’ (w=22/7) with a constant speed. Find the
displacement in 15 seconds if he has to complete the
racein 30 sec,

i) 200m 2)  100m

3) 25m 4)  50m

A particle of mass M in a circle of radius R moves with
a constant speed v. The work done when it completes
onecircle is

DMomR 2 My 3) MR 4) Zero
Two forces act on the either side of the rigid body of
negligible mass suspended by string as shown in
figure. If R is the resultant force then the tension (T) in
string will be i

T
I
! | ;

32 gwt R 50 gwt

1) 26gwt 2)  4lgwt

3y 82gwt 4)  legwt

Magnetism in a magnet is mainly due to

1)  Orbital motion of electron

2) Thespinmotion

3) Thenuclearcharge

4) Nucleusdensity

The part of eye which changes in focal length of eye
lens.

1y Iris 2) Comnea

3) Pupil 4)  Ciliary Muscles

An anchored boat is rocked by waves whose crests are
100m apart and whose velocity is 25m/s. How often do
the crest reach in boat.

1}  0.35sec. 2)  4sec.

3) 75sec. 4) 2500 sec.

The atmospheric pressure at the surface of earth is
about.

1) 10°N/m’ 2)  10°N/m’

3)  10°N/m’ 4 10°N/m’

The electric device which works on the phenomenon

of force on a current carrying conductor in magnetic
fieldis

1) Generator 2)
3) Motor 4)

Accelerator

Transformer

56.

57.

58.

fea fenadt dizae dag € UF T fan € U39S
625Tm’ (7=22/7) 3,83 feama ot & S= foor 1w
87 yar 97 30 Afds (€9 yar ager I 3t 15 Afas i

fésr feramyus (displacement) I adar
1) 200m 2)  100m
3) 25m 4)  50m

M 7 =8 feg =g R »@u fenn @8 a9 f<'a Afae
art v &7 v 1 3 | feg uar Fag aes € 3 Sz I faET
Frgn dtaT far

2 z
1) NII; Né" xR 4) #iF

In? fE'gg Wgwd W ¥RF € SUF U 9H! &5 B

oo

x2mR 2)%1\@’ 3)

' I IR I F a8 sare o1E U5 Had @5t T famsde R

59,

60.

61.

62.

63.

It I ET RS (T) AT
T
N ! }
32gwt R 50 gwt
1) 26gwt 2y 4l gwt
3) 82gwt 4)  l6gwt

sua & fFg ggagr e Wy g o avea feust fed fagar 37
1) fedaesrarnrafae

2) fedaersermut odted wHe oA aas

3) fa@a@mmean

4) fsGastmwesr

iy e G forr fros »iv € B'sw & 838 Sa91 § gomer
T

1) wifeaw 2) @A

3) yIst 4) frsdtys

fear frgt Jet famat Faar ever gaet AT I @ FdaT O
gz 100 iz I 3 Qa1 25 WiicaAfdw &1 Go Gu= 43
A 3 famst ST uddar|

1) 035#f&as 2) 4ARfaw
3) 75Rfés 4)  25008féz
T EEt ea gt Sl A 2 fagr F=am
1) 10°N/m’ 2) 10N/
3)  10°N/m’ 4)  10°N/m’

On favset tisg e st of fros fa Jadt dgg feaue fem
greg fan ffo fst mar geedt S €3 Barao o ©
frorg Savaser Tt

naAEEed

TIRETANT

1) Asdes 2)
3) Hed 4)



64.

65.

66.

67.

68.

69.

70.

71,

Chemistry
Which of the following will show Tyndall effect: l 64
1) Milkk+H,0 2) Sakt+H,0
3) CuSO,+H,0 4)  Alcohol+H,0

Which of following equilibrium shifts in backward
direction by applying high pressure?

a) NO,(g) — 2NO,(g)
b) H,(g)+Cl{g) == 2HCl(g)
¢ PCL(g)+CL(e) === PCL(g)
d) N.(g)+3H,(gy = 2NH,(g)
H A 2)B 3 C 4) D

Non-metals react with oxygen to form ........... or 66.
........ oxides

1) Acidic, Neutral 2) Acidic, Basic

3) Basic, Neutral 4) Basic, Acidic

Which sample at STP has same number of molecules  67.

as SLofNO, (g) hasat STP

1) 5gofH,(g)

2) SLofmethane(g)

3} SmolesofO,(g)

4) 5x 10" molecules of CO, (g)

Arrange the gases present in air in increasing order of 63
boiling points, ’
1) N,<Ar<Q, 2)  Ar<N,<0Q,

3) O,<Ar<N, 4)  N,<O,<Ar

How many eclectrons are present in 0.1 moles of 69
[PO,]” ions. :
1) 50x6.023 10° 2) 5x6.023x10”

3) 1x6.023x10°  4)  3x6.023x 10" 70

Esters are sweet-smelling substances. These when
treated with NaOH then:

(i} formation of alcohol and sodium salt
(ii} formation of carboxylic acid and water
(1i1) this reaction is known as sponification
1. (i)and (ii}are wrong

2. (ii)and(iii) are wrong

3. only(ii)is wrong-

4. only (iii) is wrong,

Arrange Li, C, B and Be according to increasing 71.

order of their atomic radii.
1. B<Be<Li<C 2. C<B<Be<Li
3. Be<C<B<Li 4. B<C<Be<Li

10

65.

snrfes fefaprs

. I5 fafimr fed fanfeg fegm orygre fewdt fder

1) ®u+HO ) BT+HO

3) CuSO,+H0 4) »@I3gs+HO

5 fefout {29 faost faforr @9 9§ wle 3 Agms
fife =78t ferr (backward direction) & T arev 1

a} N,O,{(g) == INO,(g)

b) H,(g)+Ci,(g) === 2HCl{g)

¢) PCL(g)+Cl(g) === PCL(p)

d) N.(g)+3H.(g) === 2NH,(g)

) A~ 2B 3)HC 4 D

3) uat, feauy 4) et et

35 fafo ST faa3 Rum U STP3 5 faea NO(g) &
T HE (molecule) T I

1) SIMHTETTAS INT

2) Sfeearisdne

3) SHSWEHIFE dine _

4) 5x10" wig agus FTEwaREE N

Ie f&9 Yige dm § Quat @ @95 wan © JuE
Wf&&j

1} N,<Ar<0, 2)  Ar<N,<O,

3) O,<Ar<N, 4) N,<0O,<Ar

0.1 i& [PO,]” nirfes fEe fad fedaas ja o)

1) 50x6.023 10" 2) 5x6.023x 107

3) 1x6.023x10° 4)  3x6.023x 10

ied e farfag (yrgewd) uerer 7%, 79" feT NaoH
&5 faforr gev g5 3w

(i) WEaIB A3 ATt ST HEET T

(ii) TIFATITBE niHS W3 U3 929 95|

(i) fer fafamir & miisifeans afdeas)

1) (i)M3 (i) IBI TS|

2) (i)y»3 (i) =T T&

3) a=B(i)asa T
- 4) FTE(ii)IBT T

Lj, C,BM‘S'Be?;?@Wém@méau%qnw
feu :

IY B<Be<Li<C 2) C<B<Be<Li

3) Be<C<B<Li 4) B<C<Be<Li



72. Which of following salt when dissolved in distilled

73.

74.

75.

76.

water will give pH less than 7

1) Na, SO, 2) CH,COONa
3) (NH,), S0, 4) NaCl
Match the following :
i)  AntSting A.  Oxalicacid
i) Tomato B. Laticacid
iit) Tamarind C.  Methanoicacid
iv) SourMilk(Curd) D.  Tartaric acid
1} (i)C, (ii)-A, (iii)-B, (iv)-D
2) | (@)-C,(i)-A, (iii)-D, (iv)-B
3)  (i)-A, (i)-C, (iii)-D, (iv)-B
4) ()-A,(i)-C, (iii)-B, (iv}-D

Which of following statements are correct about a
(alpha) particle scattering experirhent.

(i) most of the fast moving a particles passed
straight through gold foil.

(i1) some of a- particles were deflected by the foil by
small angles.

(iii) Surprisingly one out of every 10 particles
appeared to rebound.

1) (iyand(iii) are correct

2) (i)and (ii)are correct

3} (1), (i) and () are correct
4)  only (i) is correct

Match the following correctly:

1. WashingSoda  (w) Hygroscopic Substance.

I1. SulphuricAcid (x) have waterof
Crystallization

I11. Suspension (y) Coagulation takes placc on
addition of salt.

IV. Colloid (z) Particles settle downon
standing

1) IWIEIIIV(Z)

2) Ix)I(w)I(z)IV(y)

3 @IV (w)

4 1E)NEIMW)IV(Y)

In an open vessel, the liquid keeps on evaporating. The
particles of liquid absorb energy from surrounding to
regain the energy lost during evaporation. This
absorption of energy from the surrounding make the
surroundings (1) Hot (i1) cold (iii) No change in
temperature of surrounding (iv) It depends upon the

T72

11

3.

74.

HET S I YUS WS Et pH H3eT 7 S wWe el d)

1) Na,SO, 2) CH,COONa
3) (NH,), SO, 4)  NaCl
I fefimr o fims a9
i) dgrerda A, WMARTST S
i) owe B. dafeawis
iii) fost C. iursfeanmns
iv) edterdergy D, godfaannmiz
1) (i)-C,(ii)-A, (iii)-B, (iv)-D
2)  (i)-C, (ii)-A; (iii)-D, (iv)-B
3)  (i)-A, (iD)-C, (ii)-D, (iv)-B
4)  (i)-A, (i)-C, (iii)-B, (iv)}-D

gudedd © Scattering YGdr &% AYUI o (WBET) ISt AT
7 fefinr fea faasr/fagz Sl o
(i) fAMTer3T «-FT RS 2 uzd fev fra ot

| FWwARE TS|

75.

76.

(i) FFa-FESEL-ETASTINTAC TS
(iii) doatasa ¥ fa 99 10 o= f@F &9 foq o= TuR
wEaTd|

D ()™ (ii)Saslaos

2) (w3 (i) Ieslaas

3) (i), (ii)MZ (i) SgBTIE

4) FEs(ii)STSTIS

I fefipt v fims 4: ]

LTS T8 AT (w) grieadrafua ueag

11 refe@feg s (x) faremtvs

TI1. f&®%a (Suspension) (Y) T u@s Fvwaweae
feas Tre sl

Iv.&sfes (z) ugE ¥ a= 43t |9 T
o= IEF ES AR TS|

N IWIEIIV(Z)

) IIIWIEIV(Y)

3 1@ )TV (w)

4)  Ix)E@IIW)IV(y)

few y® w995 feu FeB T TMEEE § @ JIIIB T IS
Wa-gd F §owr AT U5 3T A oRIETS © 29T HEl
QT €T TS a9 RIS | g v e BT AuSt wB-
TAEE (i) rew ader T (ii) §5F e T1(iii)
I feg vt ufeeags &0t dur! (iv) fea STB € e



77.

78.

79.

80.

81.

32.

nature of liquid.

Out of (i}, (i1), (iii), (iv) which i3 correct to fill the
above statement. '

1}  only (i)iscorrect

2) (i) and(ii)are correct
3) (ii)iscorrect

4)  Allarecorrect

Biology

Which one of the following statements is not true about
Darwin theory.

1) Rapid Multiplication
2) Struggle for Existence

3) Environmental effect
4) Originof new species
The end product of respiration in plants are

1y CO,,HOandenergy
2) Starchand Oxygen
3) Sugarand Oxygen
4) H,Oandenergy

Which one of the following is known as energy
currency of acell

1) ATP

2y ADP

3) Pyruvate

4)  Glucose

F, particles or Oxysome are present in-
1) Endoplasmic reticulum

2) Chloroplast

3) Mitochondria

4)  Golgi complex

DNA replication mainly takes place in
1) G, Phase 2}  G,Phase
3) SPhase 4) MPhase

Out of the following which hormone regulates
carbohydrates protein and fat metabolism in the body
50 as to provide the best balance for growth

1) Insulin 2)
3} OQestrogen 4)

Thyroxin
Adrenaline

12
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78.

79.

80.

31

82.

iﬁﬁaaaawﬁl

(i), (i1}, (iii), (iv) fe9°' vt ot get fauar vt fagg sta o |
1) a=s()aad!
2) () (i)
3) aws(i)aadl
4) wAISFTI
e fefomrs
I3 fou auet fe< faos auz 9fes © Aoz o9 gt st
J
1) JdisEIcTETTO
2) fAQe afoe wet fuew
3) TIGESETMAT
4) &t ATItETEEST
Uy fea o fafenm erargsT uagg fagarieT 4
1) aoaasEhrandls, wEtnad ganr
2) FWIEYMI nAHIS
3) BN (5E)M3 mEHtAS
4)  uwStwIGanr
35 e {@F fauz i's @ GeAT veer 578 Aehdf /e

a3l

1) @M 2) &t

) wiegde 4 gEaw

F asatnrartin e ... e AT 35|

1) =BuswWias  2) FEdusHe

3) WelZatEder 4)  dmwtefesmer

DNA replication (SUBtaHS)HYITI ... fEadetdl
1) G\ 2) G,&d

3) SsH 4 Maa

I fafiprr foS faoar oovs wale fEo autordlds, {ds
w3 994t € 579 @Ag fafewr (Metabolism) & faufas
T & Ifa Adla v euhAr igss fegeara mx

1) fespsis 2) wfesants
3) AWeETSE 4) AdeEts



83.

84,

In human beings, If the egg is not fertilized, it lives for
about

- 1) Oneday 2)  Threedays
3) Fivedays 4)  Eightdays
The cell wall of fungi is made of tough complex sugar
called
1} Cellulose 2)  Chitin
3} Pectin 4) Lignin

85.

86.

87.

88.

89.

90.

Lung fish is connecting link between
1} Fishes and arthropods

2) Fishesandannelids

3)
4) Fishesand amphibians

Fishes and molluscs

The virus causing Japanese encephalitis or biain fever
will enter the body through

1} SexualOrgans 2)  Mosquito bite

3) Lungs 4y  Air

The direction of Impulse in a typical neuron is from

1) Dendrontoaxon 2)  AxontoDendron

3) Axontonucleus 4)  Axonto mcdulléry sheath
A hurnan fernale with Turner's syndrome.

1) Hasoneadditional X chromosome

2} Has 45 chromosome with XO

3} Exhibits male Character

4) Isableto produce children with normal husband
The correct pathway of blood in circulatory system is
1)  Auvricles = Ventricles = Arteries = Veins

2} Ventricles—» Auricles —» Veins = Arteries

3) Ventricles = Veins = Arteries = Auricles

4) Veins = Ventricles = Auricles = Arteries

In living organisms, an active immune system recruits

many cells to the affected tissue to kill off the disease
causing microbes. This recruitment process is called-

1) 2)
3) 4)

Inflammation
SARS

Syphilis
Encephalitis

13
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84,

85,

86.

87.

88.

89.

90.

Waur f@g, v g o faias &7 a8 3t feg (v fag fes
ftegafder i

1) fEafes 2y fisfes

3) imfex 4y ofsfes
getet iz fFFt fansndmsea iz dteetista)
1) #z8w 2y afefes

3) Uafes 4 foafss
geanvel fast, f@e asaaTt

1) WEt»E@nmagdsr 2)  WaEwIasiesr
3) WetwIWeRE  4)  WetmIAfadr

AUt ie g ge 7 ferat syrg erfewe adte fee fanaat
THE Jev i

1} yASESWEreANdr 2) HeddgeETas
3) 3 4 T
sEREEwEgretfenr...... ...

1) FFTEINANEES

2) WMARSIIFISTE

3) PEnsdITIATS

4) AaEs INFGEARUEE

e fAng zare fn IRargn i

1) fegTgXFepsgd=ar

2) 45TSHITISHAXNETEE

3) WWHYTE SoREtait

4) AU UIH AT HY UoTadAger 3|

1)  HEBH = THASH = I —> frgrer
2) FdEEd = wddEd = fige = metr
3) STHABA = AT - S > ardtasH
4) fAgrer - FzHamA > widlasT > e

¥ T3 UH BT € W|rent § Has Bet 973 A9 A% 93T

AT TR ETREE ..o g o)
1) wetfefan 2) Rawfamr
3) wwdtlegseseran 4) AT (SARS)



9l.

.92,

93.

94.

95.

96.

97.

Mathematics

If a,b,c be the first, second and the last term of an

A.P., then the sum of this A.P.
1} is (a-c) (btc-2a)
2(b-a)

2) 18 (atc)(btctla)
2(b-a)

3) s (atc) (btc-2a) |
2(b-a)

4) Cannot be determined unless some more
information is given about the AP.

For what value of k, (4-k) x*+(2k+4)x+(8k+1)=0 is a
perfect square?

) 0 2) 3
3) 023both 4)  -3,3both

If one of the zeros of the cubic polynomial
x*+ax’+bx+cis-1, then product of the other two zeroes
is

1) b-atl 2)
3) a-b+l 4)
For how many values of n (where n is an integer), the
expression §(n’-3n’+5) isaninteger:

2n-1

b-a-1
a-b-1

1) 8 2) -4
3 11 4 28

In the given figure ABCD is a rectangle and all
measurements are in centimeters. Find the area of the
shaded region

D G-{-C
1? 12

A«—;F e B
) 240cm’ 2)  205cem’
3) 105cm’ 4)  95¢m’
Iftan’d=(1-¢’) then secd-+an'd coseed is equal to
1 (2+e)" 2)  (2-e)”
3) (1-€)" 4) 1+
If a,b,c.d_,c are five consecutive odd numbers then their
averageis
1) 5(a+4) 7) 2hgde
3) 5(atbtctdte) 3) atd

91.

92.

93.

94,

95.

96.

97.

forme

Ha9 a,b miF ¢ fan waefeza 53t (AP) v ufasr, gwm@
AfaHue iR, I femAPTTAgTS

1) (@c)(bre2a)  F
2(b-a)

2) f(atc) (btct2a) i
2(b-a)

3) {(atc)(btc-2a) ol
2(b-a)

4) wEEfeda BF T I¥ I7 FusT 3 fast AR UsT
FaBTATT SO I

k ¥ fan ¥ BTt i (4-k) x+(2k+4)x+(8k+1)=0
fe'ef yg& Fgar I=af |

1) 0 2) 3
3) 038=tmw 4) -3,38=tmEt
a9 f3s-wrat sgue X +ax’+bx+c, S fea fAgg - 152 37

et dt  free’ v A= ae® d<ar!
1) b-atl 2} beal
3)  a-b+l 4) ab-l

n ¥ & Wa' oet (¥ n fo' fas fifar 3, feime
8(n’-30'+5) wryim fea fyas Hfumr |

2n-1
1) 8 2) 4
H 1 4) 28

fa'3 fargg fefa ABCD fea wirfera 3 i3 A Wy Aidhitzat
feg s Ifenfeed etedTareT4I9es U3 a4 |

D Gi-C
II;‘ 12
7
AP —3
1) 240RM" 2)  205RMY
3)  105RHE 4)  958F

#ad tan’d=(1-¢’) T T+ seco+tan’d cosecd BT UT
Jg=dm

1) (2"‘62)30 ’ 2) (2-82) 2

3) (1" 4 (1+y”

99 a,b,c,d.e, aHEw Uw T Hfywwt 3= 3t Guat o
HOH (AR ot 32arm?

1) 3(at4) 2)

3)  5(atbtctdie) 3)

abcde

at+4



98.

99,

100.

101.

102.

A number when divided by 342 gives a remainder 47.
When the same number is divided by 19, what would
be the remainder?

1 9 ) 8
3) 18 A 11

A sphere and a cube have the same surface area. Find
out the ratio of the volume of the sphere to that of the

cube.
1) 6:@ 2) \f6 :\];r
3)Jo:m 4) 6:Jm
ABCD is a square whose vertex A lies on the origin.

The Coordinates of the mid-point of the diagonal AC
are ( p/2,1}. Find the value of P the area of square
ABCD is 20 sq units.

1) £6 2y +20
3) £10 4 +36

The set of values of k for which the roots of the
equation 3x° + 2x + (K-1)K=0 are of opposite sign is

103.

104.

105,

1) (0,1) 2) [0,
3 (-1,1) 3 -1L,0
The value of 4\/34. ,129_72 \ﬁ is
1) 9f3 2)9
3) 943 4) 93
7 B
Y X
D C

In above figure, X is a point in the interior of square
ABCD. AXYZ is also a square. If DY=3cm, AZ=2
cm then length of BY is

1) 5em 2)
3) 7em 4)

If every side of a triangle is increased 3/2 times of its
original length, then the percentage increase in the
areaofthe triangle is

60]1‘1

8cm

1) 125% 2)  150%

3) 300% 4)  50%

If one angle of a rhombus is 60°, then the ratio of the
lengths of its diagonals is

1) J6:1 2) 21

3) 23 4) \ﬁ:l

15

98. fait ffipur & 342 3 S92 3 47 wvdlt goer I A€ Gn Afnr

& 193 fgnrare gt Grerarat at wdar?
H 9 2) 8
3) 18 4 11

99. fear GiB w3 T W A FB AT T USRS W TITF &

100

101.

102.

nfegs Mg ws emfegs ermgurgusTag!

) 6:m 2)\]6:\];7
3) 6 L 4) 6:m

. ABCD f&'q =qar 3, fare fiyg A y& fig 3 rfeg &

Hag fene fedas AC ¥ Wu fig € fagem va (p/2,1)
J<, I POTHB YIT a9 ddd =9aT ABCD 7 83ae® 20
Fgarfeaet| '

1) 6 +20 .
3) £10 4)  +36

K & €57 BT @ A (set) fan &8t mitaes 3x° + 2x +
(K-DK=0 e y= (frea) feaen I @ue i ds

1) (0.1)3T 2)  [0,1]F
3) (-1,H3 3) (1,003
431 [120-72 BEriE

) 9f3 2) 9
3) 93 4) 9-f8

103.

104.

105.

B

Z
Y

D C
Qua fe'y o 939 ¥ fig x =aar ABCD @ wregst
FrarfEgARfET NIAXYZ @ fE'g qard 1dag DY=3 An,
AZ=2RAH i@ g BY &t duret d:
2)
3) 7Ad 4)
wad fan fggn ot ada gurd ferdt yw ot ev 329
Ty fegrae It fome daaes e Sfowr o yfama &
1) 125% 2)  150%
3) 300% 4)  50%
Ado fea AHgggn © e &< 60° = 3 fere feaost
&t Eareut evniguTg O
1) 6l 2) 21
3) 23 4) J3:1

1) SAv 67

8y



106.

107.

108,

109.

116.

In a right angle triangle, the sides of the right angle
are of lengths 16 cm and 8 cm, Then the side of the

* largest square that can be inscribed in the triangte is

1) 13—60m 2) 8\]§cm

3) S\ﬁcm 4) 8cm

If a, b, c, d are the sides of a right angle triangle,

where c is the hypotenuse, then the radius ‘r” of the
incircle of this triangle is

l) r=. atb+c 2) r= a-bt+c
2 T2

atb-c a-b-c
) r=""> 4 ="

A person wrote 15 numbers on a circle. Each number

was the arithmetic mean of its two neighbours. If one
of these numbers was 6, then the sum of all the
numbers written onthe circle is

1) 120 2) 189
3) 100 4 90
B
D
C

In above figure, diagonals of a cyclic quadrilateral
ABCD intersect at point P. Area of triangle APB is 24
cm’. If AB=8 cm and CD=5 cm, calculate the area of
ADPC

1) 20cm’ 2) 12cm’

3) 9-3-com’ 4  95em’

Two dice are tossed. The probability that the total
score is a prime number is

D)4 ) 5

3) 172 4 79

16

106.

107.

108.

109,

110.

fea mde faga di miae g bt gare &
duvet 16 ™ I 8 AW J1 8w TF I ¥F weour, Afa few
fagw & ey ge o arAger I, Tt gar &t davet F3a7

16
b -mr 2) 8.3
3) 85 4) 8
ab,c fETAvaE fade dwt g 0w, e fem fageer
e & 1fen fagw fe' fud o viregat 9999 (incircle) &
way femm ' T3am:

1) r= atbtc 2) 1= _abtc
2 2

atb-c a-b-¢
3) 1= 5 4) r= 2

fexa feraat & foa 999 €3 15 Afimrat fodnst g3
Afonr i geriet Aferre (vEst w3 fugst Afonm)
T i aifEsa oW 31 Had feast (29 fe'g Afiprm 6
<2 = fon Ia9 3 fedfinit ardbowt mdtor Afimret or g
5

1) 120 2) 189
3) 100 4) 90
B

C

fedaw fogafeavadt ageg W ABCD & feraz fig P
€3 9T I5 AAPB BT §39e8 24 AW’ J13dd AB=8 AN,
CD=5AHJ< 3 ADPC € 43ae% d<4r|

1) 20AH 12
3) 94 My 4)  95mE

& wfinr (dice) & @ fur famm 17w ufgew fe'a marw
#fipur &t AgresT At g=ait?

2)

1 5
)+ ) &
4 19

3) 12



111.

112.

113.

114.

115.

116.

117.

History

The Act of Union between England and
resulied in the formation of the United Kingdom of
the Great Britain.

1) Northern Ireland 2)
3) Scotland 4)
Who led the Scholar's Revolt ?

1} Phan BoiChau

2) Phan ChuTrinh

3) The official at the imperial court
4) The people of Mekong Deilta

Wales

Jersey

The Poona Pact was signedbetween &
1) MahatmaGandhi_____Motilal Nehrﬁ

2) MahatmaGandhi__~ Lord Irwin

3) MahatmaGandhi_ __ B.R. Ambedkar

4) MahatmaGandhi______ Mount batten

The oldest Japanese book Diamond Sutra was
printed in '

1} AD686 2) ADBSeS8

3) AD668 4)  ADB866

How many years did it take to form Republic of
Vietnam? :

1) 30 2) 29

3»H19 4y 25

Consider the following events of 1919 A.D.

a. RowlattAct

b. Hunter Report

c. Jallianwala Bagh Massacre

d. Return of Knighthood by Rabindranath Tagore
Their correct sequence is.

1) ab,e,d .2y acdb

3) ba,cd 4} cabd

What was the aim of temperance movement?

1) Decrease unemployment

2) Introduce Rent control

3) Tostopcriminal activities

4) Toreduce the consumption of alcohelic drinks

17

111.

112.

113.

114.
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116.

4)
‘AT faese ermgradE wi?
1) SxERtwy

2) 5 Edtfosa

3) Snifefimie & fnitfons dge

4) A& TTT .

yzT ez fan fegara Ifenr

1) ATge s &fag - AAA e s afag

2) HIraur It - 9 feafes
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A% AWSH 6T fuT?

gesdt

86691 -

1) 30 2y 29
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b, deafsiae

¢c. Al sTOaTe AT

d. 3IFeeazma i enrd sTEegs WeTes § TUR a9ST

- feost wesRt TR AN -
1) ab,cd 2} acdb
3) bacd 4) cabd
AR B Ty QR AT

117.

1) Agmordtgweger

2) Was IR fTBITMT S T qI5T
3) wuaTar It WeETET S UIH FTET

4) BB U TARS fuwTgeET



118.

119,

120.

121.

122.

123.

124.

Which French artist prepared a series of four prints
visualizing his dream of a world made up of
'Democratic and Social Republics'?

1} Frederic Sorrieu

2) Andreas Rebmann
3) KarlKaspar Fritz
4) Giuseppe Mazzini

By the 18th century, Which of the following
commodities were produced on large plantations in
America by slave labour and exported to other
countries?

1) Grains such as wheat and barley

2) Tropical fruits such as bananas and oranges.
3) Animal products such as wool and beef.

4) Cash crops such as sugar and cotton

By which treaty Clive secured the Diwani of Bengal,
Bihar and Orissa?

1) Treaty of Plassey

2) Treaty of Allahabad

3) Treaty of Bengal

4) Treaty of Baskar

Who is the author of Jane Eyre?

1) Jane Austen 2)  Charlotte Bronte
3) William Hogarta 4)  Samuel Richardson
GEOGRAPHY

Which of the following is correct about the Konkan
coastal plain?

1) Stretches from Mumbai to Goa.

2) Stretches from Daman to Goa.

3) Stretches from Goa to Mangalore.

4) Stretches from Mangalore to Kanya Kumari.

Ravi, Jehlum and Chenab are the distributaries of
which river?

1)y Ganga 2)  Brahamputra
3) Indus 4)  Godavari.

Which state of India has more percentage of area
under forest ?

1) Haryana
3) WestBengal

2)
4)

Punjab

Tripura.
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125.

126.

127.

128.

129,

130.

131.

132

1) 3293 Kilometers 2)

Which one of the following is not a part of SAARC
{South Asian Association for Regional Cooperation)

1} India 2) Nepal
3) BanglaDesh 4)  China

In which category does the Kailash mountain range
fallin?

1} Block Mouniain 2)
3) DomeMountain 4)
What is the other name of Mangroves?

Folded Mountain
Relict Mountain

1} Mountainous Vegetation
2) Dry Vegetation

3) Monsoonal Vegetation
4) Littoral Vegetation.
Sindri is famous for -

1) Fertilizer Industry

2) Paper Industry

3) Silk Industry

4) Cement Industry

Which sotl is formed differently from the other three
soils?

1) Bhabar 2)  Bangar

3) Regur 4y  Khadar

Parkland, Steppes, Pampas, Campos and Veld are
keptin which ofthe following categories?

1) Mountains 2) '
3) Deserts 4)

Which of the following factis correct for straight line
drawn between Arunachal Pradesh and Rann of
Kachchh?

Plateaus

Grasslands

2933 Kilometers
3} 2393 Kilometers 4) 2923 Kilometers

Which region normally experiences the
convectional type of rainfall 7

1} Equatorial Region
2) North Polar Region
3) SouthPolar Region
4} Glaciated Region

125.

126,

127,

128.

129,

130.

131.

132.
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133.

134.

135.

136.

137.

138.

CIVICS

How many duties are registered in 51* arficle of
Indian Constitution by 42™ amendment?

1) 10
3) 12

2) 6
4 11

The President cannot proclaim General Emergency
without directive from......................

I. The Attorney General

2. The Cabinet.

3. The Chief Justice of Supreme Court.
4. The ChiefElection Commissioner.

Provision of President's Emergency powers is taken
from the constitution of ....................

I} SouthAfrica 2)
4)

ireland
3) Germany Australia -

Who decides whether a particular Bill is Money Bill
cran Ordinary one.

1) The President

2) TheFinance Minisfer

3} The Speaker of Lok Sabha
4) The Prime Minister.

Match the following:
A West Bengal 1. United Democratic party
B Uttar Pradesh 2.  Muslim Leagne
C Meghalaya 3. Rashtriya Lok Dal
D Kerala 4. Forward Block

1) A-Ii, B-I,C-1V, D-Il
2) A-IV,B-III, C-I, D-II
3) A-I,B-II, C-IV, D-II
4) A-IN,B-I1,C-1, D-IV

Amendment Act of 2003 limits the size of the
MINISIY to ..c.cvvvvrvcrernnnns

1) 15% ofthe length of'the legislative Assembly.
2) 16% ofthe length of the legislative Assembly.
3) 17% ofthelength of the Icgislati\;eAsscmbly.
4) 18% of'the length of the legislative Assembly.

135.
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139,

140,

141.

142.

143.

144,

145.

Which statement is True :-

1) Union list has 47 subjects, State list has 97
subjects, concurrent list has 66 subjects

2) Union list has 66 subjects state list has 47
Subjects, concurrent list hag 97 subjects

3) Union list has 97 subjects, State list has 66
subjects and concurrent list has 47 subjects.

4) Union list has 47 subjects, state list has 66
subjects and concurrent list has 97 subjects.

Who cannot participate in the electoral process of
Vice President?

1) Elected members of Lok Sabha.

. 2) Elected members of Rajya Sabha

3) Elected members of Legislative Assembly.

4) Nominated members of Lok Sabha & Rajya
Sabha

Thereare _ members elected for Parliament from

Punjab. '

1N13 2) 14

310 4 IS5

Naturalised Citizenship cannot be acquired by

1) Longstay 2)  adoption

3) Jus-Sanguinis- 4)° Conquest
ECONOMICS

What is marginal propensity to save (M.?.S 3

y AY AS
e ) 3y
AY AC
3) AS . AY
Workers in the .............. sector do not produce
physical goods.

1) Primary Sector 2)
4)  Final Sector

Secondary Sector
3) Tertiary Sector

To grow more than one crop on a piece of land during
ayearisknownas:-

1) KharifCrop . 2)
3) RabiCrop 4)

Multiple Cropping
Good Crop.
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146.

147.

148.

149.-

150.

Who is the chairman of the Planning Commission.
1) N.§.S.O 2)  Chief-Minister
3) President 4)

Factors of Production and their Price is given
below:- )

I. Land
II. Capital----- Rent

Prime Minister

iIl. Labour ----- Interest

1V. Entrepreneur ---- Profit

Which matching is wrong,

1y LIV 2y  HILv
3} LILII 4) HILIV

From the following groups which has all the
economic-activities

1) Production, Consumption, Social Service,
Distribution.

2} Production, Consumption, Exchange,
Distribution

3} Production, Consumption, Exchange, Sociai
Service

4) Consumption, Exchange, Distribution, Social
Service _

On the basis of ownership, types of economy are:-
1) Capitalistic, Socialistic, Developed-Economy.
2) Socialistic, Mixed, Developed-Economy.
3) Capitalistic, Socialistic, Mixed-Economy.

4) Mixed, Developed, Developing-Economy.

In India who directly controls the "Monetary
Policy"?

1) Finance Department of India
2) Reserve Bank of India
3) State Bank of India

4) Prime Minister of India
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ENGLISH

151-155. Read the comprehension passage and answer
the following questions :

151.

152.

At this stage of civilization, when many nations are
brought in to close and vital contact for good and
evil, it is essential, as never before, that their gross
ignorance of one another should be diminished, that
they should begin to understand a little of one
another's historical experience and resulting
mentality. It is the fault of the English to expect the
people of other countries to react as they do, to
political and intemational situations. Our genuine
goodwill and good intentions are often brought to
nothing, because we expect other people to be like
us. This would be corrected if we knew the history,
not necessarily in detail but in broad outlines, of the
social and political conditions which have given to
each nation its present character.

According to the author ‘Mentality' of a nation is
mainly productofits.......

1. Presentcharacter

2. International position

3. Politics

4. History

The character of a nation is the result of its ..
1. Grossignorance

. 2. Cultural heritage

153.

154.

155.

3. Socio-political conditions
4. mentality

The need for a greater understanding between
nations..

1. is more today than ever before
2. wasalways there

3. isnolonger there

4. will alwaysbe there

Englishmen like others to react to political situations
like...

1. others

2. us

3, themselves

4. eachother

According to the author his countrymen should..
1. read the story of other nations

2. notreactto other actions

3. have a better understanding of other nations
4. have vital contacts with other nations

156-162. Read the comprehension passage and answer
the following questions :

Marie Curie was one of the most accomplished

156.

157.

158.

scientists in history. Together with her husband,
Pierre, she discovered radium, and element widely
used for treating cancer, and studied uranium and
other radioactive substances. Pierre and Marie's
amicable collaboration later helped to unlock the
secrets of the atom.

Marie was born in 1867 in Warsaw, Poland, where
her father was a professor of Physics, Atan early age,
she displayed a brilliant mind and blithe personality.
Her great exuberance for learning prompted her to
continue with her studies after high school. She
became disgruntled, however, when she learned that
the university in Warsaw was closed to women.
Determined to receive a higher education, she
defiantly left Poland and in 1891 entered the
Sorbonne, a French university, where she earned her
master's degree and doctorate in Physics.

Marie was fortunate to have studied at the Sorbonne
with some of the greatest scientists of her day, one of
whom was Pierre Curie. Marie and Pierre were
married in 1895 and spent many productive years
working together in the physics laboratory. A short
time after they discovered radium, Pierre was killed
by a horse-drawn wagon in 1906. Marie was stunned
by this horrible misfortune and endured
heartbreaking anguish. Despondently she recalled
their close relationship and the joy that they had
shared in scientific research. The fact that she had
two young daughters to raise by herself greatly
increased her distress.

Curie's feeling of desolation finally began to fade
when she was asked to succeed her husband as a
Physics Professor at the Sorbonne. She was the first
woman to be given a Professorship at the world-
famous university. In 1911 she received the Nobel
Prize in Chemistry for isolating radium. Although
Marie Curie eventually suffered a fatal illness from
her long exposure to radium, she never became
disillusioned about her work. Regardiess of the
consequences, she had dedicated herself to science
and to revealing the mysteries of the physical world.

The Curies’ collaboration helped to
unlock the secrets of the atom.

1. friendly 2.  competitive

3. courteous 4.  industricus

Marie had abrightmindand a personality.

1. strong 2. lighthearted

3. humorous 4,  strange

When she leamed that she could not attend the

university in Warsaw, she felt
1. hopeless 2.  annoyed
3. depressed 4.  worried



159. Marie by leaving Poland and traveling to
France to enter the Sorbonne.
1. challenged authority 2. showed intelligence
3. behaved 4. was distressed

160, she remembered their joy together.
i. Dejectedly 2. Worried
3. Tearfully 4. Happily 7

161. Her began to fade when she returned to the
Sorbonne to succeed her husband.
1. misfortune 2. anger
3. wretchedness 4.  disappointment

162. Even though she became fatally ill from working
with radium, Marie Curie was never .
1. troubled 2. worried
3. disappointed 4,  disturbed

163-167. Read the comprehension passage and answer
the following questions :

Waste management are a set of activities that include
collection, transportation, treatment and disposal of
waste material. There are four methods of managing
waste. The first one is Recycling which means
turning waste into new material but some argue that
collecting, processing and converting waste uses
more energy than land filling. The second method
Land filling is compacting garbage and burning it in
a hole. Large levers are placed in the bottom of
landfills to avoid toxic garbage juice to go into
ground water but these levers always don't work.
Composting, the third method is piling up of Organic
matter and decomposing it to make the soil rich but
plastic garbage makes it hard to compost on a large
scale. The last method Incinerate waste can be done
either by creating or harvesting a fuel and burning it
or by burning the waste directly. Unfortunately
burning garbage pollutes the air.

What is the main purpose behind the author's writing
this?

1. Toconvince the readers to recycle and compost

163.

2. To persuade readers that recycling is a waste of
resources

3. To compare and contrast recycling and land
filling

4. To inform readers of methods of waste
management '

164. Why Composting is not feasible on a large scale ?

1. People wouldn't want to touch all of that gross
rotting food

- Itwould smell too bad in densely populated cities

It would attract rodents that would spread disease

Plastic would get into the compost and turn it into
apollutant

had
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165. Which of the following expresses the best meaning
of the word 'compacted'?
1. Garbage is burned before it is thrown in a hole
2. Garbage is put in trucks before it is thrown in a
hole
Garbage is crushed before it is thrown in a hole
Garbage is put in a can before it is thrown in a
hole
What expresses the main idea in the second 7
paragraph?
1. Land fills take up a lot of space

- 2. Composting is good for the soil but it can be hard
todo

The process of composting is very complicated
and scientific

4. Thereis lot of plastic garbage in landfills

Which conclusion could be best supported with text
from the passage?

1. Each method of waste management has its draw
backs

Recycling is without a doubt the best way to
handle waste

Incineration is the best way to process waste

All large cities should create massive compost
piles -

3.
4,

166.

3.

167.

2.

168-169. The following six sentences come from a
paragraph. The first and the last sentences are given.
Choose the order in which the four sentences (PQRS)
should appear to complete the paragraph.

168. S 1:In 1945, America faced two powerful enemies
in the world war.

S2:

53:

S3:

S4:

S5:

S6 : This was the weapon that ended the second
World War.

P: America found conventional weapons
insufficient to crush them.

Q:These were Germany and Japan who posed
strong opposition to America.

R : The result of this was the production of the atom
bomb.

S: The government ordered the scientists to conduct
research and produce a new deadly weapon.

The proper sequence should be
1. QPRS 2. QPSR
3. PQRS 4, PQSR




-~

"

169. S 1:We are what our thoughts have made us.
52:
S3:
83:
S4:
S5:
S6: If good impressions prevail, the character
becomes good, if bad it becomes bad.

P: Andso take care of what you think

Q: Every man's character is determined by the sum
total of these impressions.

R : Every work we do, every thought that we think,
leaves an impression on the mind-stuff.

S : Thought lives, they travel far.

- The proper sequence should be
1. SPRQ 2. RQSP
3. PRSQ 4. RQPS

170-171. The following questions have the second
sentence missing. Choose the appropriate sentence
from the given options to complete it.

170. Asmoke oozed up between the planks.
)
C Everyone now knew there was fire in board.

1. People stayed wherever they were to enjoy the
scene.

2. Flames broke out here and there.
3. People were ready to go for sky diving.
4, Itwasamesmerizingsite.

171. A-When a satellite is launched, the rocket begins by
going slowly upwards through the air.

B
C However the higher it goes, the less air it meets.
1. Asaresultthere isless friction.

2. Consequently, the rocket does not become too
hot.

3. Asaresult the atmosphere become thinner.
4. Astherocket goes higher, it travels faster.

172 -180. Choose the word which best fills the blank
from the four options given below.

172. The terrorists were arrested for their ------ activities
1. subservient 2. subordinate
3. subsidiary 4.  subversive

173. Therole of Zoois to preserve —----- animals.
1. extinct 2.  common
3. rare - 4.  dead

174. The manner in which bombs exploded in five trains
within a short span of time suggests that it was part of

1. game 2.

villainy
3. conspiracy 4.  sabotage
175. The non-cooperative attitude of the members can
only ------ the image of the society.
1. improve 2. degrade
3. defame 4.  spoil
176. The volcanic -----—--- was cause of great devastation.
1. outburst 2. eruption
3. erosion 4, movement
177, ———emmmmemme Eye-witness, the news reporter gave a
graphic description of how fire broke out.
1. Reporting 2. Observing
3. Seeing 4. Quoting
178. Diseases are ---------- through contact with infected
animals.
1. transmitted 2. transported
3. transferred 4.  transplanted
179. The Prime Minister--------- the states that the
unrevised policy was not meant to infringe upon
their rights.
1. assured 2. declared
3. attributed 4.  suggested
180. He------ friends has come back.
1, andhis 2. alongwithhis
3. orhis 4.  alongwiththem

181-182. Choose the appropriate phrasal verb to

complete the sentences.

181. Has the advertising agency-------- the new
promotional material yet?

1. dropped off 2.  droppedin
3. droppedout 4. droppédby
182. We have decided to ---+r--—-- billboards and use
more double-page spreads instead.
1. backoff 2.  comedownwith
3. Cutbackon 4.  dropoff

183-184, In the following passage there are some
pumbered blanks. Fill in the blanks by selecting the
most appropriate woxd for each blanks from the given
options.

Jamshedji Tata is ----- 183--—- to be the path-finder
of modern industrial builders. He is known as the



grandfather of the Indian industry for his acumen and
enthusiasm. Nobody else could have ---—- 184--- of
the new industries started by Jamshedji at that time
when industrial ----- 185 —-—- and revolution was yet
to come to India. Jamshedji's father Nasarvanji Tata
used to trade in jute with China and Britain. He
started----- 186----- from India. Jamshedji started a
cloth mill in Nagpur more than hundred years ago. At
that time almost all the ——-- 187-=--—-- used to
come from Lancashire in England. What Jamshedji -
--—-188----- was praiseworthy,

183. 1. reward 2. agreed
3. empowered 4.  Considered
184. 1. absolved 2. thought
3. ventured 4. set
185. 1. imports 2.  acts
3. machinery 4. awakening
186. 1. export 2. industries
3. import 4. ftrade
187. 1. goods 2. Imports
3. cloth 4.  machines
188. 1. did 2. dreamt
3. Agreed 4, told

189-195. Select the meaning of given phrases/idioms
from the given options.

189. Real friends never leave us alone in close quarters.
1. close examination
2. livencarto each other
3. live fartoeach other
4. inlove
190. On the eve of inspection every thing was kept in

apple pie order.
1. inrandom order

2. related to fruits packing
3. related to dry fruits packing
4. inperfectorder

191. Tohave passed with 'flying colours'
I. hasexcelled inart
2. has gotmediocre grades
3. has just scraped through
4. hasdone very well
192. Reenuis very popular for her above board conduct.
1. boasting person
2. honest and straight forward
3. amanwitharrogance
4. adishonestperson
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193. Onceinblue moon, we meet each other.
1. frequently
2. Hardlyever
3. veryseldom indeed
4. inthelight of a blue moon
194. The officer took him to task,
1. promotedhim 2.  rebukedhim
3. dismissedhim 4.  praisedhim
195. Whydoyouwishto tread on the toes?
1. togive offencetothem
to follow them grudging
to treat them indifferently
tobekicked by them
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196-197. Choose the correct antenyms for the
underlined words.

196. Twant to pursue my studies,

1. prolong 2. discontinue
3. continue 4.  discomfort
197. The student's constant and djligent efforts brought -
him great success.
1. hucky 2. constant
3. lazy 4. slow

198-200. Choose the correct synonyms for the
underlined words.

198. He changed his statement so many times that his
entire message became ambiguous,

1. clear 2. impressive
3. unimpressive 4.  unclear

199. Don't live under the fallacy that luck will do
everything for you.
1. wrongbelief 2. weakness
3. pleasure 4.  rightbelief

200. Quarrelling people created a lot of cacophony and so
nobody was able to hear us.
1. bitterness 2. noise
3. hearing 4.  fighting
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